

APRW -38

Effect of Dietary Levels of *Zingiber officinale* and *Allium sativum* on Seminal Lipid Peroxidation and its Correlation with Semen Indices in Rabbit Bucks

A.A. Adeyemi, S.I. Ola, B.H. Ajao, S.D. Yekini and O.J. Oloyede

Department of Animal Sciences, Obafemi Awolowo University, PMB 13, Ile-Ife, Nigeria.

Corresponding author: A.A. Adeyemi; E-mail: hadenikeyemi@gmail.com

Abstract

To assess the effect of dietary level of *Zingiber officinale* (ZO) and *Allium sativum* (AS) on seminal lipid peroxidation in rabbit bucks, twenty-eight (28) bucks aged 9 – 10 months old were fed diets containing 0, 5, 10 and 15 g ZO and AS /Kg diet respectively for seven (7) weeks with four bucks per treatment. Semen was collected from the bucks weekly using an artificial vagina. Samples of fresh semen were assessed for semen volume (ml), spermatozoa motility (%) and live sperm cells (%). Seminal plasma was separated from the semen by centrifugation and lipid peroxidation was determined as Malondialdehyde (MDA) activity using standard procedures. All data obtained were subjected to statistical analysis. The result showed that semen volume and spermatozoa motility was significantly ($p < 0.05$) influenced by the levels of the ZO and AS fed to the bucks. The values obtained for percentage live sperm cells were not significantly ($p > 0.05$) different among the treatments. Lipid peroxidation was not significantly influenced by the dietary levels of the ZO and AS fed to the rabbit bucks. The values obtained for lipid peroxidation ranged from 0.36 – 0.41 nmol/ml in the *Zingiber officinale* group, while 0.29 – 0.35 nmol/ml was recorded in the *Allium sativum* group. A significant negative correlation exists between seminal lipid peroxidation and spermatozoa motility ($r = -0.525$; $p < 0.05$) in the ZO group. It was concluded that for improved semen quality and quantity, 5 to 15 g/kg dietary level of *Zingiber officinale* can be fed to mature rabbit bucks to enhanced reproductive efficiency.

Keywords: Seminal plasma, ginger, garlic, malondialdehyde, reactive oxygen species

Introduction

Good quality semen is a major requirement for efficient reproduction in rabbit bucks. Nutrition, stress, management among others has been identified as non-genetic factors that influence semen quality and thus fertility in bucks. The attempt to improve semen quality in farm animals has resulted in the use of some herbs with antioxidant potentials to prevent peroxidation in semen. The semen is made up of mature sperm cells and several other fractions such as seminal plasma, droplets and vesicles. These other fractions account for 49.8% of the phospholipids in semen (Castellini *et al.*, 2006) which are important for the survival of the sperm cells. Phospholipid loss, membrane damage and loss of motility in mammalian spermatozoa are resultant effects of lipid peroxidation (Mann and Lutwak-Mann, 1981). Lipid peroxidation can be described generally as a process by which oxidants such as free radicals attack lipids especially polyunsaturated fatty acids. Like most cells in the body, spermatozoa are rich in polyunsaturated fatty acids which are capable of undergoing various changes that makes them susceptible to degradation by reactive oxygen species (Hsieh *et al.*, 2006).

Reactive oxygen species (ROS) such as hydrogen peroxide, hydroxyl radical, can cause damages to sperm cells (Mylonas and Kourestas, 1999). The presence of sufficient amount of antioxidant in the body suppresses the adverse effects of ROS. Antioxidant defense against ROS appears to be highly influenced by nutrition (Eid, 2008). Malondialdehyde (MDA) has been identified as probably the most mutagenic product of lipid peroxidation. The level of MDA in body fluid depicts the extent of lipid peroxidation. The effects of antioxidants on MDA levels have been reported (Yousef *et al.*, 2003; Eid 2008). *Zingiber officinale* and *Allium sativum* have been used for their beneficial effects on health in livestock (Saeid *et al.*, 2011; Alagawany *et al.*, 2015). They are generally grouped as spices. Both plants possess antioxidant properties with androgenic activities (Morakinyo *et al.*, 2008; Ogbuewu *et al.*, 2013; Ewuola *et al.*, 2017) which can enhance the quality of semen for improve rabbit production. The effect of these spices on weight gain, haematology and some semen indices in some farm animals have been reported by various researchers.

This study therefore aimed at assessing the effect of dietary levels of *Zingiber officinale* and *Allium sativum* on lipid peroxidation and its correlation with semen indices in rabbit bucks.

Materials and Methods

The study was conducted at the rabbitry unit of the Teaching and Research Farm, Obafemi Awolowo University, Ile-Ife, Nigeria.

Fresh *Zingiber officinale* (ginger) and *Allium sativum* (garlic) rhizome were bought from open market in Ile-Ife, Osun State, Nigeria. The spices were washed with clean water, cut into small sizes, air dried, ground and thereafter incorporated into concentrate diet at different levels (0, 5, 10 and 15 g) to obtain seven experimental diets (control 0g D1; *Zingiber officinale* group D2 – D4; and *Allium sativum* D5- D7) used for this study. Twenty-eight (28) bucks aged 9 – 10 months old were used for the experiment. The bucks were kept individually in metal cages raised from the floor and fed the experimental diets for seven (7) weeks. Semen was collected from the bucks once weekly using an artificial vagina (Ola, 2016). Samples of fresh semen were assessed for semen volume; spermatozoa motility and percentage live sperm cells as described in Adeyemi et al. (2014). Seminal plasma was separated from the semen by centrifugation at 4000 rpm for 15 minutes and assessed for lipid peroxidation. Lipid peroxidation was determined as Malondialdehyde (MDA) activity using the method developed by Nichans and Samuelson, 1968 and adopted by Mokogwu et al. (2016).

All data obtained were subjected to statistical analysis of variance procedure using Statistical Analytical System (SAS, 2009). Treatment means were compared using Duncan Multiple Range Test of the same software. The results were expressed as mean $\pm$ SEM (standard error of means).

Results and Discussion

The results on seminal lipid peroxidation and some semen indices in rabbit bucks fed *Zingiber officinale* (ZO) and *Allium sativum* (AS) are presented in Table 1. Dietary levels of ZO and AS had no significant effect on seminal lipid peroxidation in bucks among the treatments. Bucks on the control (0g) had 0.43nmol/ml lipid peroxidation value while 0.36 to 0.41 nmol/ml was recorded in the *Zingiber officinale* group and 0.29 – 0.35 nmol/ml in the *Allium sativum* group. The result from this study is at variance with the findings of Saied et al. (2011) who reported a significant reduction in antioxidant malonhydiyaldehyde with the administration of aqueous extract of ginger to broiler breeder male for twenty (20) weeks. This data show that dietary levels of ZO and AS fed in this study did not significantly reduce the level of MDA in the seminal plasma of the bucks. Its role as a free radical scavenging natural antioxidant may be more effective if fed to the animals for a longer period.

Semen volume and spermatozoa motility were significantly ($p < 0.05$) influenced by the levels of ZO and AS fed to the bucks among the treatments. The dietary levels ZO and AS fed to the bucks had no significant effects on percentage live sperm cells among the treatments. The semen volume of bucks fed 15 g/kg ZO (0.91ml) was significantly ($p < 0.05$) different from that of those fed the control diet (0.53ml). This shows that feeding rabbit buck ZO up to 15g/kg can result in increased semen volume compared with those fed the control, 5 and 15g/kg AS. Inclusion of natural antioxidant sources in the diet of rabbit buck may improve their semen quality and quantity for efficient reproduction. The result from this study corroborate the findings of Eid et al. (2006) who reported that higher antioxidant intake was associated with higher sperm motility. Ogbuewu et al. (2013) observed a deleterious effect of dietary ginger at 15g/kg feed on sperm motility and % live sperm cells of pubertal rabbit bucks which is at variance with the findings from this study. Seminal plasma may play a potential role in sperm viability with regard to its lipid peroxidation level and antioxidant content (Castellini et al., 2000). Hence, the improved semen quality observed in this study may be attributed to the presence of bioactive substances such as flavonoids, alkaloids, (Ali et al., 2008; Ameh et al., 2013) in the herbs that possess androgenic properties.

The values obtained for lipid peroxidation (LP) in the seminal plasma showed low correlation with semen indices (Table 2 and 3). A significant negative correlation exist between LP levels and spermatozoa motility ($r = -0.525$; $p < 0.05$) while it had anon-significant negative and positive correlation respectively exist with semen volume ($r = -0.386$) and percentage live sperm cells ($r = 0.186$) for bucks fed *Zingiber officinale* diets. In bucks fed *Allium sativum* diets, LP level negatively correlated with semen volume ($r = -0.082$) and percentage live sperm cells ($r = -0.083$) while a positively correlation exist with sperm motility ($r = 0.012$). This shows that the relationship between seminal lipid peroxidation and semen indices of bucks administered ZO and AS is relatively low. The significant negative correlation between LP and spermatozoa motility in the ZO group implies that a decrease in LP results in increased spermatozoa motility which is a major indicator of the fertilizing potentials of sperm cells. Reactive oxygen species (ROS) production can be used as a marker of oxidative stress in seminal fluid and is correlated with male infertility (Saeid et al., 2011). The positive correlation between seminal lipid peroxidation and percentage live sperm cells in the ZO group was expected, since the role of antioxidants in the survival of sperm cells is well established (Castellini et al., 2000).

Table 1: Seminal lipid peroxidation and semen indices of rabbit bucks fed dietary levels of *Zingiber officinale* and *Allium sativum*

Parameters	Control	<i>Zingiber officinale</i> (g/kg diet)				<i>Allium sativum</i> (g/kg diet)			±SEM
	0	5	10	15	5	10	15		
Lipid peroxidation (nmol/ml)	0.43	0.36	0.39	0.41	0.35	0.33	0.29	0.02	
Semen Volume (ml)	0.53 ^c	0.67 ^{bc}	0.71 ^{abc}	0.91 ^a	0.56 ^c	0.82 ^{ab}	0.58 ^c	0.05	
Spermatozoa Motility (%)	88.00 ^{ab}	95.11 ^a	92.88 ^{ab}	88.78 ^{ab}	86.12 ^b	88.00 ^{ab}	93.11 ^{ab}	1.27	
Live sperm cells (%)	94.78	95.11	96.39	96.48	95.75	95.38	95.78	0.24	

a, b, c -Means in the same row with different superscript are significantly ($p < 0.05$) different, SEM – standard error of means

Table 2: Correlation between seminal lipid peroxidation and semen indices in rabbit bucks fed dietary levels of *Zingiber officinale*

Characteristics	Mean	Correlation coefficient (r)	p value
Semen Volume (ml)	0.76	-0.386 ^{NS}	0.13
Spermatozoa Motility (%)	92.26	-0.525 [*]	0.03
Live sperm cells (%)	95.93	0.186 ^{NS}	0.48

p – probability, *: significant $p < 0.05$, NS: non-significant $p > 0.05$

Table 3: Correlation between seminal lipid peroxidation and semen indices in rabbit bucks fed dietary levels of *Allium sativum*

Characteristics	Mean	Correlation coefficient (r)	p value
Semen Volume (ml)	0.65	-0.082 ^{NS}	0.78
Spermatozoa Motility (%)	89.19	0.012 ^{NS}	0.97
Live sperm cells (%)	95.64	-0.083 ^{NS}	0.78

p – probability, *: significant $p < 0.05$, NS: non-significant $p > 0.05$

Conclusion

Zingiber officinale and *Allium sativum* possess antioxidant potentials hence its use in rabbit bucks diet may reduce oxidative stress in seminal plasma. However, dietary levels of *Allium sativum* may not result in improved semen indices hence its use in other forms such as extract may be adopted. The relationship between seminal lipid peroxidation and semen indices of bucks administered ZO and AS is relatively low. For improved semen quality and quantity, 5 – 15 g/kg dietary level of *Zingiber officinale* may be recommended for efficient reproduction in mature rabbit bucks.

References

- Adeyemi A.A., Ewuola E.O. and Tewe O.O. (2014). Testosterone, libido assessment and semen characteristics of rabbits fed supplemental *Moringa oleifera* leaf meal. *Nigerian Journal of Animal Science*, 16 (1): 13-19
- Alagawany M., Ashour E. A. and Reda F. M. (2015). Effect of dietary supplementation of garlic (*Allium sativum*) and turmeric (*Curcuma longa*) on growth performance, carcass traits, blood profile and oxidative status in growing rabbits. *Annals of Animal Science*. DOI: 10.1515/aoas-2015-0079.
- Ali B. H., Blunden G. Tanira M.O. and Nemmar, A. (2008). Some phytochemical, pharmacological and toxicological properties of ginger (*Zingiber officinale* Roscoe): A review of recent research. *Food and Chemical Toxicology*, 46 (2): 409 -420
- Ameh, G.I., Eze, S.C. and Omeje, F.U. (2013). Phytochemical screening and antimicrobial studies on the methanolic bulb extract of *Allium sativum* L. *African Journal of Biotechnology* 12(14): 1665-1668
- Castellini, C., Lattaoli, P., Moroni, M. and Minelli, A. (2000). Effect of seminal plasma on the characteristics and fertility of rabbit spermatozoa. *Animal Reproduction Science*. 63(3-4): 275-282
- Castellini, C., Cardinali, R., Dal Bosco, A., Minelli, A. and Camici, O. (2006). Lipid composition of the main fraction of rabbit semen. *Theriogenology*, 65(4): 703-712.
- Eid, Y.Z. (2008) Dietary grape pomace affects lipid peroxidation and antioxidative status in rabbit semen. *World Rabbit Sci.* 2008, 16: 157-164

- Eid, Y., Ebeid, T. and Younis, H. (2006). Vitamin E Supplementation Reduces Dexamethasone-Induced Oxidative Stress In Chicken Semen. *British Poultry Science*, 47: 350 – 356.
- Ewuola, E.O., Esan, O.A., Adeyinka, A.D. and Adeyemi, A.A. (2017). Effects of methanolic garlic extract (*Allium sativum*) on semen quality and seminal total antioxidant in rabbit bucks. Proceeding of 6th ASAN-NIAS Joint Annual Conference, Abuja, Nigeria. pp115 – 119
- Hsieh, Y., Chang, C. and Lin, C. (2006). Seminal malondialdehyde concentration but not glutathione peroxidase activity is negatively correlated with seminal concentration and motility. *International Journal of Biological Sciences* 2:23-29.
- Mann, T. and Lutwak-Mann, C. (1981). Male reproductive function and semen. Themes and trends in physiology, biochemistry and investigative andrology. Springer-Verlag, Berlin/Heidelberg/New York. p 495
- Mokogwu, A.T.H., Airhomwanbor, K.O., Mokogwu, E.E. and Onohwakpor, E.A. (2016). Lipid peroxidation and oxidative stress in pulmonary Tuberculosis in Edo state, Nigeria. *African Journal of Cellular Pathology* 7:35-40
- Morakinyo, A.O., Adeniyi, O.S. and Arikawe, A.P.(2008). Effects of *Zingiber officinale* on reproductive functions in the male rat. *African Journal of Biomedical Research* 11(3): 329 - 334
- Mylonas C and Kouretas D. (1999). Lipid peroxidation and tissue damage. *In Vivo* 13(3): 295-309
- Nichans W.G and Samuelson D. (1968). Formation of malondialdehyde from phospholipids arachidonate during Microsomal lipid peroxidation. *Euro J. Biochem.* 6:126-130.
- Saeid, J.M., Shanoon, A.K. and Marbut, M.M. (2011). Effects of *Zingiber officinale* aqueous extract on semen characteristic and some blood plasma, semen plasma parameters in the broilers breeder male. *International Journal of Poultry Science*, 10 (8): 629-633, 2011
- Ogbuewu, I.P., Okoli I.C. and Iloeje, M.U. (2013). The detrimental effect of dietary ginger rhizome powder supplementation on reproductive performance of pubertal rabbit bucks. *International Journal of Innovation and Applied Studies*. 4(1), 128–132.
- Ola, S.I. (2016). OLIRAV: A simple, disposable rabbit artificial vagina: sevice/procedure. Proceedings 11th World Rabbit Congress - June 15-18, 2016 - Qingdao - China, 209-212.
- SAS (2009). SAS/STAT User's Guide.Version 9.2 for windows. SAS Institute Inc., SAS Campus Drive, Cary, North Carolina, USA.
- Yousef, M.I. Abdallah, G.A. and Kamel, K.I. (2003). Effect of ascorbic acid and Vitamin E supplementation on semen quality and biochemical parameters of male rabbits. *Animal Reproduction Science*, 76 (1-2), 99-111